*BFFEI-J

YRS/ 24/ 3MI-FAVH

TTTTTTTTTTTTT

A 5&HI-h 1 2 3 R B Nz H 12&31-h 1 2 3 BERY | B | IR
1 FHEF IR 4L ETC 1 PRE 1883 JSHITC
2 VR feRBk IIHITC 2 fERA H L LETAY2IZT
3 SFHA fEh ERETABER 3 RHREA E—(FATC
STEIE : 1-2 = 1-3=2-3 STERIE : 1-2 = 1-3=2-3
B 6®/I-h 1 2 3 R B Jlgiv I 13&31-b 1 2 3 BRS| BE | IR
1 B B JTHITC 1 Wit B —M5TA-)
2 NI i HHTC 2 FEEF fETC
3 PED Foh JU— 3 TR Jbi JSHITC
STEIE : 1-2 = 1-3=2-3 STERIE : 1-2 = 1-3= 2-3
C 7&I1-b 1 2 3 R B Jldiv J 14%I-h 1 2 3 BRS | B | IR
1 SeE #0A TASC 1 R EFRFTC
2 DO BX EEILBEFR 2 ARE AAC
3 A Bt EAETC 3 EI R MATS
STEE : 1-2 = 1-3=2-3 STERIE : 1-2 = 1-3=2-3
D 8&I-h 1 2 3 R B Nz K 15&3-b 1 2 3 BRS| BE | IR
1 ke S RO 1 AHER E5 dLLTC
2 A i 4L ETC 2 IR TR BRSSP
3 FH = [EEHETA 3 PR 52 R p%s
STEIE : 1-2 = 1-3=2-3 STERIE : 1-2 = 1-3=2-3
E 9&FI-h 1 2 3 R B Nz L 16&I-b 1 2 3 BERY | B | IR
1 S B BHTC 1 e = L LETAY2IZT
2 R 2% L ETAY2Z7 2 IR B JU-
3 S A JU— 3 EH EJL —M5TA-0
STEIE : 1-2 = 1-3=2-3 STERIE : 1-2 = 1-3=2-3
F 10&I-b 1 2 3 R B Nz M 17&]I-h 1 2 3 BRS| BE | IR
1 Ftth 542 TC.PASSers 1 VR RS AI>Y
2 &fh EE BRI E TR 2 R 186 RS R
3 1ERR BUE TOY's Tennis lab 3 HH % ELABTC
STEIE : 1-2 = 1-3=2-3 STERIE : 1-2 = 1-3=2-3
G 11&EI-h 1 2 3 BR BE JEhL
1 Bt A2 IIHITC
2 T H#E b ETAZ2ZY
3 Ih7] et EAETC
SHEIE : 1-2 = 1-3=2-3




